BIIHERMA

Franz Wagner & Sohn GmbH  pressure gauge accessories
MESSGERATE FUR TEMPERATUR DRUCK FEUCHTE

Thread Material Article Connection Material | Art.no.
inner outer no. GLleftx G ¥ brass | 7425
G % GY brass | 7342 GLleftx G ¥ steel 7426
G% brass | 7343 LH/RH G%left x G % 316 Ti | 7427
G brass | 7387 union G % x M20x1,5 left| brass | 7428
G% brass | 7388 DIN 16 283 | G 1. x M20x1,5 left| steel | 7429
G G% brass | 7389
Gl 316 Ti | 7390 Connection PN Material | Art.no.
YaNPT | brass | 7391 T G 250 brass | 7435
M12x1,5| brass | 7393 gﬂl 400 steel 7436
G% GY brass | 7394 R 250 brass | 7437
G brass | 7395 i G 400 steel | 7438
GY | brass | 7396 Dﬁ’,ﬂ'i’é g‘;t‘,r 400 | 316Ti | 7439
Female- G Y 316 Ti | 7397 M20x1,5| 400 steel 7441
Male G% brass | 7400
G% 316 Ti | 7401 Connection Material | Art.no.
G¥% 316 Ti | 7402 L7 brass | 7424
% for G va
G ¥ NPT brass | 7404 Hé steel 7431
% NPT | 316 Ti | 7403 brass | 7432
G ¥ brass | 7337 Nipple for G % steel | 7533
M12x1,5| brass | 7338 DIN 16 284 316 Ti | 7434
M20x1,5| brass | 7408
M20x1,5| 316 Ti | 7344 Connection| PN/Tube @| Material | Art.no.
M12x1,5| GY brass | 7327 GYa 250/6 | 316Ti | 7442
M20x1,5| G¥% brass | 7329 600/6 | 316Ti | 7444

600/8 | 316 Ti | 7446

both sides female | Material | Art.no. C°"‘f‘i’t’tie:Si°” G 600/10| 316 Ti | 7448
GY%xGYa brass | 7454 with ferrule 1) 600/12| 316Ti | 7450
G¥xGY 316 Ti | 7455 1) incl. Sealing washer
G¥%xG¥% brass | 7457 Pressure gauge snubber, adjustable

G%xG¥% 3 / Connection working Mate |a| Art.no.
Female G % xM20x 1,5 braSS ;458

temp. °C
Female 753, M20x1,5 | 316 Ti | 7460 120 brass | 8660

GY¥ 200 steel 8661

both sides male | Material |Art.no. 200 316 Ti | 8662

GYxGYs brass | 7464
brass | 7461 Manometer rubber cover
1, 1,
C¥xGY% 316 Ti | 7462 — Diam. | Colour |Artno.
Male G Y% x % NPT 316 Ti | 7463 ] 63 red 7420
— 63 blue 7421
inner outer | Material |Art.no. — 100 2 blue 7423

G% brass | 7471 2) Diam. 100 only for pressure gauge type series 2 and 6

G% 316 Ti | 7470 Sealing washers

GV

Self-sealing G ¥ brass | 7472 for thread | Material | Art.no.
nipples (SS) G% 316 Ti | 7473 Sealing add-ring G copper | 7482
G%
. ALU 7483
Instrument mounting brackets M12x1,5
Extensionmm | Material | Art.no. GYa
7484
1 — 60 AU | 7405 . Mi2x1,5| COPPer | 748
100 | black | 7406 by contorte epieay G v
160 | varnished [ 7407 (in accordance with | M12x1.5 316 Ti | 7485
Bracket for EN 837-1) !
wall mounting 60 7410 G%G% copper | 7486
DIN 16 281 100 | 316Ti | 7411 m20x1,5| “°PP
Form H 160 7412 G %,G % )
M20x1,5 316 Ti | 7487
Thread | Material | Art.no.| |Sealing washer DIN 16 258 G Y copper | 7492
Gl brass | 7415 G Y, |BA-CF500| 7493
G% steel | 7416 for self-centering G% | copper | 7494
Adapter G | 316Ti | 7417 ('?rf centering spidot |G 3, | BA-CF 500] 7495
(for above brackets) NPT | 316 Ti | 7418 EN 837-1) GY¥ ALU 7496
Thickness of 1,5 mm GV PTFE | 7481
Thread | Material | Art.no. Thickness of 2,0 mm G PTFE | 7499
I G ] GY PTFE | 7497
femalefmale brass | 7217 Thickness of 0,5 mm C PTFE | 7498

098





